The Smoker’s Problem
· A likes smoke. B dislikes smoke. A’s utility is 
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 = endowments in money of A and B respectively. 
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= consumption value for A and B.

· s = smoke level in the air. Assume that s is between 0 to 1.
Finding Pareto Optimal Amount
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Using the three first order conditions, we get   
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Trading of Property Rights
· Assume that B owns the air and hence can sell smoke level.  A buys smoke from B.

· Let 
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= smoke level bought (= level sold in equilibrium). 
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is between 0 to 1. 
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Both equations are satisfied when 
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That is when the indifferent curves are tangent.
A’s problem


Max � EMBED Equation.3  ��� s.t. � EMBED Equation.3  ���





LA =  � EMBED Equation.3  ���


� EMBED Equation.3  ���          


� EMBED Equation.3  ���


� EMBED Equation.3  ���


Equation (a) represents demand for smoke
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B’s problem


Max � EMBED Equation.3  ��� s.t. � EMBED Equation.3  ���





LB =  � EMBED Equation.3  ���
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Equation (b) represents supply of smoke
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